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rate/cell by loop module ID
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difference between noise rate and mid-tray fit
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[ rate/cell by global module ID |
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[ rate/cell by tray ID, nHits/tray/ev>25 |
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| nHitslev, ToT range |
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vpd cell |

1

0.8

0.6

0.4

0.2

0 5 10 15 20 25 30

htotx_vpd

40

35

30

25

20

15

10

5

PITTTI

-0.8 -0.6 -04 -0.2 02 04 0.6

| hp_vpd_tof |

1

1

0.8

0.6

0.4

0.2

0 5 10 15 20 25 30 35



mtd

cell

10%

10°

10?

10

||I|I'-|-I-ﬁ_hIILI—ﬁ¢|:| I

80

100




200

150

100

50

0

<
—
O
=
Y

ToT

12000

10000

8000

6000

4000

2000

5

O|||||||||

10

15

20

25

30

35

40

OO

40

60

ToT MTD9

6000

5000

4000

3000

2000

1000

o
o

10

20



[ ToT MTD11E | | ToT MTD11C |

12000 [ 1401~
. 120[—
10000 | r
- 100}
8000 |— B
- 80 —
6000 |— -
n 60—
4000 -
- 40 —
2000 — 20—
O_ 1 1 1 1 1 1 1 I 1 1 I LW —— I ] e 0_ 1 1 1 1 1 1 1 1 I 1 1 1 1 I 1 1 1 IJ.llrl"""-l—lu—rlﬂl'h._m.._L b O] 4 10
0 10 20 30 40 50 60 0 10 20 30 40 50 60
| ToT MTD11W |
160
140
120
100
80—
60—
40
20
C L1 1 PR S W R N TR SO SR NN R MR Mﬂ-ﬂ“’u"mﬁ:ﬂmin-f

OO
=
o
N
o
w
o
IS
o

50 60



